55188 HIRIBED A

BifE B SF1074028 288 —7EE : 500P B JERn
JE A : OUT | IN | GR | HDCP | NET E= 1) B4z K OUT | IN | GR | HDCP | NET e S
101 |$kE 21 54 | 44 | 98 |21.6 |76.4 1500P 151 |k& #H 52 | 54 | 106 |22.8 | 83.2 1500P
102 |#ik BAE 45 | 46 | 91 |14.4 |76.6 1500P 152 |fBE B2 54 | 52 | 106 |22.8 |83.2 1500P
103 |&#  FIfE 57 | 52 | 109 |32.4 |76.6 1500P 153 |28 & 46 | 47| 93| 9.6 |83.4 |BB 2000P-E
104 \fE &= 45 | 45| 90 [13.2 |76.8 1500P 154 |24 JE— 56 | 47 | 103 [19.2 | 83.8 |BHEAE Pe-Tin]
105 2@ B3 45 | 51| 96 (19.2 |76.8 Pe ]

106 R i 39| 44| 8| 6.0[77.0 1500P

107 |"FB% RS 47 | 42| 89 (12.0|77.0 1500P

108 |FHE Fig 46 | 42| 88 |10.8 |77.2 |=FEV14H 2000P

109 |N\EE X 50 | 44 | 94 |16.8 | 77.2 1500P

110 /M #EMR 52 | 48 | 100 | 22.8 | 77.2 E—IL

1M1 |55 whyY 54 | 58 | 112 (34.8 [77.2 1500P

112 |[BE ®WX 42 | 45| 87| 9.6 |77.4 1500P

13 |ifk  HER 47| 46| 93 |15.6 |77.4 1500P

114 |3k%k & 42 | 57| 99 |21.6 |77.4 1500P

15 |8 (=T 49 | 50 | 99 |21.6 | 77.4 Bt

116 | &N Ei 53 | 52 | 105 |27.6 |77.4 1500P

17 |50 E— 47| 45| 92 |14.4 |[77.6 1500P

18 | Hig 48 | 50 | 98 (20.4 [77.6 1500P

19 |Jilst & 50 | 53 | 103 |25.2 |77.8 1500P

120 | KA £33 52 | 51| 103 |25.2 [77.8 E—IL

121 5@ =k 41| 43| 84| 6.0 [78.0 1500P

122 |#8H & 49 | 53102 |24.0 [78.0 1500P

123 K =8 51 | 51102 (24.0 [78.0 1500P

124 |RKE HBE 48 | 47| 95(16.8 |78.2 1500P

125 |th#t  fE— 50 | 44 | 94 |15.6 |78.4 i)

126 |RK FRh 53 | 53 | 106 |27.6 |78.4 1500P

127 % B 53 | 46 | 99 [20.4 |78.6 1500P

128 |3 IERh 54 | 45| 99 (20.4 |78.6 1500P

129 | KRR SF 52 | 52| 104 |25.2 |78.8 1500P

130 |EZN EM 54 | 50 | 104 | 25.2 | 78.8 E—IL

131 UNE EE 44 | 41| 85| 6.0(79.0 1500P

132 |# =0 42 | 49| 91 (12.0 [79.0 1500P

133 |kH % 55 | 48 | 103 [ 24.0 [79.0 1500P

134 |385%% ER 55 | 53 | 108 [ 28.8 [79.2 1500P

135 Il 2B 44 | 51| 95 |15.6 |79.4 Pe ]

136 [#AFT BpE 50 | 51 | 101 [21.6 |79.4 1500P

137 |Bpft B— 47 | 53 1100 [20.4 [79.6 1500P

138 |F& FA 59 | 53 | 112 |32.4 | 79.6 1500P

139 ;@@ B 63 | 49 | 112 [32.4 | 79.6 1500P

140 |Bpor =— 50 | 49 | 99 |19.2 |79.8 E—IL

141 |fich i 50 | 55 | 105 | 25.2 |79.8 1500P

142 % z# BhF 55 | 56 | 111 [31.2 [79.8 1500P

143 B/ H¥ 47| 51| 98 (18.0 [80.0 1500P

44 B2 E ERY 52 | 55 | 107 | 26.4 |80.6 1500P

145 BT STig 56 | 51 | 107 | 26.4 |80.6 e Tin]

146 |#IE #h= 54 | 52 | 106 | 25.2 |80.8 1500P

147 B B 53 | 45| 98 [16.8 |81.2 1500P

148 |RIEA X8 58 | 69 | 127 |45.6 |81.4 1500P

149 | KR HE 47 | 48| 95(13.2 [81.8 1500P

150 |4t F=B 51 | 58 | 109 |26.4 |82.6 E—IL

[BEAZEIWRY 7 [BEIEZIHDCPES - N—TXxy F(OUT)- A2 b/Ay Y (IN) [BBLKN]2-3-4-6-7-8-10-11-13-14-15-18 28




